VK284 FE6 H Aiff IE T S O 2

SEIOMIETEIT, RE LHEOWRDOIDOEEMED T
XEIWRDRE S HOYR 2 7TEEMIETRIZHED
OEVBIFIED 8 R R AR DI E D1F)>, [E A B4
DPTENEN, DRI AR DR E 2 E %7t B LT,

ST )
1T 55 D B AR 412, 600 HH
— X =3 42, 6 00FHH
HIEHOTHBEM 8, 45314, 600 M
— =7 4, 00882, 6 00KHH

[ THEEEICHOWTIX, B THBEACTEELZ, ]



2 FIETFTHEHOANE

(BN TH)
=+ e 44 4 K N =
1 ERR27TEEEMIE 183,700
FEIZHEIDHD
(DFBETXKE 183,700 |1 ONVBFERE B EREETIBRIEE 82,200
A&
OEVEFERED B SL A 35720, B¥EISGD=0
D N2 WG 4 K OVEE ik Y 4 2 54
Bt - FRAA
NFYE 4 50 5 H
R4 20
2 BREITEELEIRIAEE 101,500
BOEVMEB R 2R T 5720, RERE R
ST ARB Y AT L5 e O T A AT E B D
B4 5130, AR BT ICE T A H AT &R B
Bhk FR4E
RE VAT L w1005 H
BT A AT R E AL 105 H
Bk W3 b 10/10
2 EEXZHEDOHRES 230,597
2L D
(1) FBFTXE 78,597 |1 REBLHEESMEY LIFXEE 78,597

B OB EL D=0, RFEIRE I
U f5 S0 o A Bk

Bhk FEvERE 82,000/ H « A

Bk HHEEHD3/4




(HA7: TH)

= * Za 4 %A N =
(2) A BEE R 152,000 |1 #HXAEZEE 64,000
B THE  (IRFR) FE AT A
2 )7k D BN BB 88,000
S £93,800m
3 FDfh 11,582 |1 /KPR Kk OHEAKHER D& FRIRE 11,582

IZRHBEERES

YRR 2T H OFERBE R WA AED K P PAERIC LY
A CTo iR K E IR DR FHEE




: SLEs el g =
Z) ]\/‘ IEEI%E‘WFIR (Qé{j::':m)
X ool fIERTORE| i 1IE %A &t e g o MR N R
: N
— B A4 & 149,935,945 262,297| 150,198,242 [ERSC 4 253,203
i WO 4 70,094
(3
+ Kk % 47,639,938 163,582| 47,803,520| & UL A 11,582
& P
rfi 15 91,000
it 3 400,400,000 425,879| 400,825,879
e = 3 A 844,919,784 425,879| 845,345,663
==
0 W&
ER (EN7: TH)
= 3t 72 OF o H B LRI D% | M £ FE =t
# o oEF B F OE E 4,403,000 91,000 4,494,000
— =t
2 41,119,966 91,000 41,210,966




